Aces High/Blue Max/American Aces (3W)

Mike Smith. Version 4, November 2002

Assisted by its well-conceived and historically accurate scenarios, and its comprehensive but playable system this remains a fine game of WW I air warfare. The 1993 edition of Aces High combined the rules of the original Wargamer magazine game with those of the Blue Max expansion kit, adding better graphics (including a nice map), better rules/tables layout, a new rule for fuel endurance, and additional scenarios. American Aces (1994) was the identical system with a different map (fairly yucky) and new scenarios based on American flyers in French, British or US service. 

Errata: Page 10 of the 1993 basic rulebook  - 6.29 - “in the event of shooting in the 12 o’clock field of fire” should say “in the event of shooting in the A field of fire” as in the original 1980 rules.

4.27 - The rules for half-loops sound logical but are not (as I now realise thanks toAces High discussion on Consim!). You should not always make a 180 degree change of bank as a result of a half-loop. Use the following table:

Bank before                       Bank after

L                                          I

LB                                       IL

LV                                      LV

IL                                       LB

I                                          L

IR                                       RB

RV                                     RV

RB                                      IR

Variant Rules (they work for all editions 1980 - 1994). 

4.26 & 4.27 A Grade 5 pilot may not half-loop (H) or sideslip (S or T). If using Advanced Aircrew Quality then a Grade 5 pilot who has a flying skill of 11 or 12 may.

4.29 – (Addition) A plane moves 1 hex less than its speed allows per whole increment climbed; e.g. a plane with an initial speed of 6 and a climb increment of 100 ft, that climbed 150 ft, would actually move 5 hexes. If it climbed only 50 ft it would move 6 hexes.

4.27 – (Addition) Grade 3 pilots and above (and Grade 4 or 5 with flying skill 11 or 12) may do a full-loop (notation F) – a climbing half-loop immediately followed by a diving half-loop (with no straight flight between the two halves of the manoeuvre). For the purposes of variant rule 4.29 above, this manoeuvre counts as a climb (and not as a dive for the purposes of variant rule 5.35 & 6.55 below). A full-loop must be preceded by the requisite number of hexes of straight flight. It is the only time a plane may climb and dive in the same turn. The amount of dive must exactly equal the amount of climb. A plane that does a full-loop may not fire that turn. 

4.54 – (Optional Addition) Formation Flying : Planes that begin a scenario in a formation (see 9.1) with their section/squadron leader may exactly echo the move of their leader instead of plotting their own move. A leader may not turn more than 1 hexside per hex, use ace movement, half-loops, or sideslips while leading in this way. 

However once planes plot their own moves they cannot go back to movement synchronised with their leader. A leader may tell members of his section that they should now start flying independently at the start of any move.

5.35 & 6.55 – (Addition) A diving plane may safely set an initial speed for next turn that exceeds its normal maximum by 1 for each complete 400 ft it dived. e.g a plane dives 400ft on turn 1. Its normal maximum speed is 5, but the dive allows it to safely set an initial speed for turn 2 of  6. If it set an initial speed of  7 for turn 2 then it would roll for damage with a score of 1 infringement.

5.6 – (Addition) Collision : Up to three planes (size 0 or +1) flying in formation, facing the same way and exactly echoing their leader’s moves can safely end a move in the same hex and at the same altitude. Reduce this to two for planes of size +2. A plane of size +3 may not safely end a move in the same hex and at the same altitude as another. 

In all other circumstances there is a risk of collision if two or more planes end a move in the same hex at the same altitude. Each aircraft in the hex rolls 2D6 at the beginning of the Combat Phase. All those with the same total on their 2D6 have collided with each other. If the 2D6 total was 2 to 7 then the collision was fatal and the planes concerned are destroyed. If the 2D6 total was 8 to 12 then each involved plane takes 3 wing hits. 

6.12 – (Addition) Firing at a plane at a different altitude with fixed forward firing machine guns (FOF 12+/-) forces you to dive (lower target) or climb (higher target) at least 50 ft next move. A 12 +/- with the notation “A” need not climb (or dive if inverted) after firing at a permitted target in the same hex.

6.24 – (Addition) Also apply the –3 modifier if the firing aircraft half-looped (H) or sideslipped (S or T). Apply the –3 penalty only once if more than one, or a combination, of these various manoeuvres was done. If a firing plane is in bank LV or RV then apply a modifier of –1 (unless qualifying for –3 because of some other manoeuvre).

6.30 – (Addition) Apply a –1 modifier if the target plane sideslipped (S or T).

8.2b – (Change) An “ace” may “change his mind” over altitude changes by up to 1 increment of climb and/or dive per ace movement point he has; e.g. A Grade 1 pilot has 3 ace movement points. He originally plotted a climb of 150 ft. His climb increment is 100 ft and his dive increment is 300 ft. He decides to adjust his altitude change to a dive of  250 ft (two climb increments to adjust from a climb of 150 ft to level flight, and one dive increment to adjust from level flight to a dive of 250 ft).

If an ace is going to lose a hex[es] of movement because of “changing his mind” by climbing then he loses this from the ace part of his move.

11.6 Balloons occupy the whole of a hex, filling one 50ft level of altitude. If they are being hauled down this is assumed to occur at the end of the second movement execution phase. No plane may plot a move through the hex of the balloon at the altitude it occupied at the start of the turn (nor through the altitudes beneath – because of the balloon’s mooring wire).

Making the Zeppelin in American Aces an obstacle is a bit tricky without abandoning si-move. It should be 3 hexes long, when turning it should pivot about its middle hex, and it should occupy two 50ft levels. However, with si-move its just too easy to bump into…maybe you should keep plotted moves but allow planes to alter their plot to the minimum degree necessary in order to avoid a collision with the Zeppelin.

16.0 (Optional Addition) Secrecy: Players need not let the enemy know the qualities of their aircrew until it is revealed by some game action. 

Plotted moves should be kept secret from the enemy (and from friends in a multi-player game) until revealed by their execution. You may always know the speed of any planes that you have spotted.

A shooting  plane rolls secretly for the number of hits it inflicts, revealing the number of hits gained but not if its guns jammed.

A plane receiving hits rolls secretly to see where they are inflicted. A plane keeps its accumulated damage secret from the enemy (and from friends in a multi-player game). Only the following must be revealed: being a flamer, explosions, one’s engine not being on, having an unconcious crew member (don’t reveal whether dead or fainted if using aircrew endurance rule), and being shot down (!).

Remaining levels of endurance and ammo should be kept secret.

In a multi-player game players should not be able to discuss proposed moves or tactics with friendly pilots once the scenario has started.

14.0 – (Addition) Optional: The actual endurance a plane has is variable according to where the scenario is occurring, entry altitude, and a random factor. Roll secretly once for each formation on the table below, at the moment when it enters.  Keep the result secret. In some scenarios the starting endurance is fixed, and in that case don’t use this rule.

Modifiers:

+ 1  all formations of defender’s side

additional + 1 if defending target deep behind friendly lines (whole map friendly territory)

- 1  all formations of attacker’s side

additional - 1 if attacking target deep behind enemy lines (whole map enemy territory)

+ 1 if enter at low altitude (if maximum climb at ground level is: 50 ft = 2500ft or less; 100ft = 5000ft or less; 150ft = 7500ft or less; 200ft = 10000ft or less; 250ft = 12500ft)

- 1 if enter at high altitude (if maximum climb at ground level is: 50ft = 5000ft or more; 100ft= 10000ft or more; 150ft = 15,000ft or more; 200/250ft = 20000ft or more)

modified die roll                multiply planes’ endurance by this factor

 -2                                               x .5

 -1                                               x .6

  0                                               x  .7   

1 x  .8

2 x  .9

3 x   1

4 x   1

5 x   1.25

6 x   1.5

7 x   1.75

8 x   2

9 x   2.25

Log Notation

I find the log notation system needlessly awkward. This works better for me (you need a new version of the Log sheet with these at the bottom and a new version of the bank notation diagram):

L = U

LB = LU

LV = LV

IL = LI

I = I

RB = RU

RV = RV

IR = RI

B = RB

N = LB

R = RT

L = LT

S = RS

T = LS

H = H

F = F

P = P

K = K

Z = Z 

